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Answers

1.    526.8    

2.     59.3    

3.    1,000    

4.   177,190   

5.    803.56   

6.   134.896   

7.    791.3    

8.   896.514   

9.   9,714.7   

10.    84.537   

11.   379,100   

12.   77,383.1  

13.    1,000    

14.    49,160   

15.     100     

16.    1,000    

17.    139.9    

18.    7,613    

19.     100     

20.   466.538   

Use decimal multiplication and division rules to fill in the blank.

1) 5,268÷10 =    526.8    

2)     59.3    ×10 = 593

3) 639.6×   1,000     = 639,600

4)   177,190   ÷1,000 = 177.19

5)    803.56   ÷10 = 80.356

6)   134.896   ×1,000 = 134,896

7) 791,300÷1,000 =    791.3    

8) 8,965.14÷10 =   896.514   

9) 971.47×10 =   9,714.7   

10)    84.537   ×10 = 845.37

11) 379.1×1,000 =   379,100   

12) 773.831×100 =   77,383.1  

13) 395,700÷   1,000     = 395.7

14) 491.6×100 =    49,160   

15) 28,281.7÷    100      = 282.817

16) 280.921×   1,000     = 280,921

17) 1,399÷10 =    139.9    

18)    7,613    ÷10 = 761.3

19) 836.81×    100      = 83,681

20)   466.538   ×10 = 4,665.38
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